c

Consider the function below to find each limit. If a limit does not exist, state why.

2x% + 3x, x<-2
Gx)=1"
—5x+ I, x>-2
a) lm G(x) b) Im G(x) ¢) Im G(x)
x——2 x—>-2" 233

Find each of the following limits analytically. Show your algebraic analysis.

In x ﬁnc ._I__.

a' 1 — = ———

x—e 2x ge ae

"

b. lim (2x*+2x) %(5')2;9(5): Z(A)+l0=10+10=20
!

x—5"

z z - — =
c. 1 [sin20+2c0s6) = (SunfY) +S-€os = O + a(-N= -a )
- G 9"_)

o (¥—3)(*_§,+l)- [y X=3 _-2-3 -yz.

2 = = T 9 <
x*—x—-6 x»2 (% a2 2 2-
B, 2= 5 //’{ > x
x—>-2 2x+4 '
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R+S /
T (k3 ¥-3) \c@ C

S W

D _

g. lim

=2»r b°3

E= @k b)(a‘+a.b+b )

(ZKB)(H‘-& -G +q\_ lim -Gt T

lim

gsd. dor= . x%’/‘ 2/5 2 ,
2 = J 7

ARV B)S < AR 5= TG - B

Zrry + " lm\ 2y+s — | b

T = N2x+5-1

D2 x+2

‘anf+ { -2 @ +2)(T-——-2.$1\'§+ l

9w+

oL
lia &(/"s) - [m\
- x>z Yoper * |

Lum

T Qo) (T 4> GO (Sorrr s
2 )

i
F

&
—————————— - - a-

g a)ert! i"i',""' o

N

1——\/2x -

C N2xz-1 ) t lwm  (=(9x2-1)

,\—>1 %=1 1 .y.v-;_-;"_"" X0 (g~ N *ﬁ-—-:_z—d_)
FEr = J .
2 ~2x + 2 i M(‘*")
Clim lm2xt4 ) ‘tm % +
Lk Q“‘)Gﬂa-ﬂ.e ) vae}(t{-m \:--. (_y;ﬁ)/(lﬂ—',.":-;)
" i
—3 (#1~1) = -5
=
b+ Nx)2-2 (+Ve
Daily Lessons and Assessments for AP* Calculus AB, A Complete Course Page 27 (,

Mark Sparks 2012



% hfﬂ X +x+2
- 1 1
¢ s G Jtro x(xay  RCwrr) L (w2
x—0 X b4 N ),_
r", . z |
%t 2
Tl SN S— -~ DNE
_— x(;“-l-z_} % x>0 x2(v+2)
f
5 Bx + 1 7 [
O 3x +7x+2= lim = >t %2
o -4 w2t [rE(x-2) ®
[ s
Vol
( a e 2.1+ T3 = +
( i 2.1-2 S +
o' lim  3Bxr! w—
x22' w-2
1 firn 2x45 —rgY = 3.' m. 2x+5 .
53t X—3 233~ X =3
(R.N*Y e -{;E—- x=a.9
S 2(9.9)+ S 3
go: im M. = - 2.9-> =
x 23" %x-3
If fix) = 22 — 3x + 4, find lim LEHA=T)
h—0 h

Daily Lessons and Assessments for AP* Calculus AB, A Complete Course
Mark Sparks 2012

Page 28



